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DIFERENCIALES
d(c)=0
d(x) =dx
d(u+v—-w)=du+dv—dw
d(c-u)=cdu
d(u-v)=u dv+vdu
du™=nu""du

d(x")=nx""1dx
d(uj: vdu —udv V=0

u u
d(Inu):d—u
dlogu) = 9% ¢
de")=e" du

d@")=a"Inadu

du')=vu'tdu+u’ Inudv
d(senu) =cos udu
d(cos u) =-senudu

d(tan u) =sec? u du

d(cotu) =—csc? u du
d(secu) =sec u tan u du
d(cscu) =—csc u cot u du

d(arcsenu) =
1-u?
d(arccos u) =-— du
1-u?
d(arctanu) = du
1+u
d(arccotu) =— du2
1+u
d(arcsecu) = S
uu? -1
d(arccscu) :_diu
uu? -1

INTEGRALES
1.- I(du+dv—dw)=jdu+J‘dv—jdw
2.-chu=c.|'du
3.-J' dx=x+C
n+1
4a.- Ix dx—n+1+C (n=-1)
0 un+1
4b.-ju du=n+1+C (n=-1)
5.- jduzlnu+C
6.- J'a du—lnua+C
7.-Ie“ du=e" +C

8.- jsenudu =—-cosu+C
9.- J'cosu du=senu+C

10.- Isecz udu=tanu+C
11.- jcscz udu=—cotu+C

12.- fsecu tanu du=secu+C

13) _[cscu cotu du=-cscu+C
14.-J'tanudu=ln\secu\+c
15.-Icotu du=Insenu/ +C
16.-Isecu du=Insecu+tanu/+C

17.-Icscu du= In\cscu — cotu\ +C

du 1 u
18.-I . =—arctan—+C
uc+a- a a
du 1
19.-_[ 5 In +C(u>a)
u?-a? 2a u+a
du a+u
20.-J ; 2:—I ——+C (a>u)
a‘—u 2a |la—u
21.- _arcsenu+C

22.-

Iva —u
7:In‘u+ Ju? +a? ‘+C
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23.-.[«/a2 —u? du=5m+%arcsen5+c

a

24.
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